Name: KQLG
1.4 Day 2 Homework

Set up the equations you would use to solve for x only! DO NOT SOLVE!

1. 2.
3x 10x+6 / 12x+4
4x-10
Equation: 3% = 4¥-1D Equation: _ 10X+l +12%+4 =13D
3 4.
R/’ axt3 10x + 12
10x
ax
Equation: 10X+ 4V = 8% Equation: 4 x +3 =10X+1Z
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Equation: _ 14X+8+ b¥X+4 =180 Equation: 10X +12 =30
14x+ 8 10x + 2
° f ® } L MO bi _ -
7. ! 8. MQ bisects <AMP, <AMP = 40x + 10, <AMQ = 6x — 2

Equation: \A(‘L F=10x X2 Equation: kQY -2+ Y-1 = 4o +10




Now... Please solve the problems completely!

9. A supplement of an angle is 3 times
the complement of the angle.
Find the angle.

190 - X =3 (90-Y)
IRD—X = 210-3X
Z\(-: a0

11. The measure of two supplementary angles
are in a ratio of 7:5. What is the value of
the smaller angle?

TIX+56¥ =180
12X = |20
X =15

5(%)=

13. An angle is its own complement. Find the
Measure of the supplement of the angle.

X = a0 —X
7% =90
iX‘-‘r‘-}‘:’Di

150 — 45 = (125]

10. An angle’s measure is 6 degrees more than
three times the measure of the complement.
Find the measure of the complement.

X= o+ 390—¥%) 90
X = b+ 270 -3 ‘_Loﬁa
X =27k 3% \:Z’]
Hex =27k
X=A

12. An angle measures 12 degrees less than three

times its supplement. Find the measure of the angle.

X= 3(\80-x) —12
= B4o-3xX —1Z
X=928-BX

Hx =522

l X=l52;

)

14. Angle DEF and Angle FEG are supplementary.
m<DEF = 9x + 1, m<FEG = 8x + 9. Find
both angles.

Ax+H +8X+9 = \¥O
|7x +10=18D

7% =170

mLDEF 4a1° E@

W< FEG =\



